
12 ALK

E
ng

lis
h

 These 2-part clamps enable a 50% gain in stock 
and transport volumes in comparison to the 1-part 
clamps.

 These clamps are “Phosphated” before being 
painted, which protects the steel from corrosion and 
helps the paint to bond.

Complete Assembled Clamp

Strap fi xing onto the Nylstop 
M12 Support

Complete KIT = 2 Straps + 2 Supports + 2 fl at washers + 2 Nylstop M12 nuts + 
4 Standard M12 nuts + 1 set of assembly instructions.

STEELSTEEL
Two-part "STRAP" Clamps



13ALK

D

M

B

E

AP

E

E
ng

lis
h

STEELSTEEL
Sold in KITS of two clamps. 2 mm thick steel, “Phosphated” then 

coated with matt black paint or electrogalvanised. Two-part “STRAP” 
clamp, sold in KITS of two clamps in a plastic bag: 2 Straps + 2 Supports + 4 Standard 
M12 nuts + 2 fl at washers + 2 NYLSTOP M12 nuts + 1 set of assembly instructions.
These 2-part clamps enable a 50% gain in stock and transport volumes in comparison 
to the 1-part clamps. Additional Standard or Nylstop M12 nuts are also sold separately 
in bags of 4.

Two-part  "STRAP"  Clamps 

ALK Ref.
Matt Black

ALK Ref.
Electrogalvanised

Tank 
Diameter = D A B M P E

97.206.00 97.206.00Z 206 130 65 43 229 11x16
97.246.00 97.246.00Z 246 180 90 43 269 11x16
97.276.00 97.276.00Z 276 180 90 43 299 11x16
97.310.00 97.310.00Z 310 200 100 43 333 11x16
97.396.00 97.396.00Z 396 250 125 43 419 11x16

96.206.00 96.206.00Z 206 122 61 43 229 12x16
96.246.00 96.246.00Z 246 162 81 43 269 12x16
96.276.00 96.276.00Z 276 192 96 43 299 12x16
96.310.00 96.310.00Z 310 227 113 43 333 12x16
96.396.00 96.396.00Z 396 307 153 43 419 12x16

2 Standard M12 nuts

Dimensions in millimetres
D = External Diameter of the Tank in mm

Bag of 4 additional nuts 

STANDARD M12 
ALK Ref. Thread

78.200.00 M12

NYLSTOP M12 
ALK Ref. Thread

78.300.00 M12

RUBBER protection KIT
see details on pages 4 

and 15

Enables compliance with 
Standard 87/404/EC

ALK Ref. Clamp 
Diameter

93.206.00 206

93.000.00
246
276
310

93.396.00 396



14 ALK

A

B C D

ERIASSECÉN LITUOTLAHNI - STNETNOC - TIK UD UNETNOC
TOOL YOU NEED

NOTWENDIGES WERKZEUGA – 2 Sangles / Straps / Bänder
B – 2 Supports / Supports / Tankbehalter
C – 4 Rondelles plates M12 / Flat Washers M12 /

Flache Scheiben M12
D – 4 Ecrous Nylstop M12 / Nuts Nylstop M12 /

Muttern Nylstop M12
Clé de 19 mm

Wrench of 19 mm
Schlüssel von 19 mm

KIT COLLIER SANGLE - STRAP SADDLE - SPANNBAND

INSTRUCTIONS DE MONTAGE - FITTING INSTRUCTIONS - MONTAGE ANWEISUNGEN

2
Cintrer les deux sangles “A”.
Bend the two straps “A”.
Die zwei Bänder biegen “A”.

1-Déballer toutes les pièces - Unpacking all the items - Alle Stücke auspacken.

3
Vérifier le sens de montage.
Check the way of fitting.
Den Weg der Montage 
überprüfen.

4
Fixer les sangles “A” 
sur les Supports “B” 
avec les rondelles “C” 
et les écrous Nylstop “D”.
Fit the straps “A” 
on the supports “B” 
with the washers “C” 
and the Nylstop nuts “D”.
Die Bänder “A” 
auf den Tankbehalter “B”
mit den Scheiben “C” 
und die Muttern Nylstop “D” 
befestigen.

Réservoir
d’air

Air tank

Luft 
Behälter

E
ng

lis
h

Assembly instructions for 2-part "STRAP" Clamps. 
These instructions are present in each KIT.

Two-part "STRAP" Clamps
STEELSTEEL

2-part clamp support Detail of the end of the support


	CATALOGUE-ALK-2012_EN 13
	CATALOGUE-ALK-2012_EN 14
	CATALOGUE-ALK-2012_EN 15

